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Investigation of an American Arithmetic Text Book (IV)
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Following the previous papers which treated text books and teacher's books for
Kindergarten, Grade 1 and 2, we introduce and investigate an American arithmetic text book
and the teacher's book for Grade 3, named “Mathematics” published by McGraw-Hill
Company. And we point out the importance of getting conceptional understanding often

referred to in both books.
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1. Numbers and Operations (¥ & ##%)
. Patterns, Functions, and Algebra (/3% — > BI%. ¥
. Geometry and Spatial Sense (Z¥{i] & 22 &%)
. Measurement (%)
. Data Analysis, Statistics, and Probability (7 — & 7#f. #at. HEZE)
. Problem Solving (F&jREfER)
. Reasoning and Proof (FEEE{t) & EFEHH)
. Communication (Z I 2= — 3 V)
. Connections (B&)
10. Representation (FH)
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BT IIMERROIGH T, BEREDALRIEADOIGHOBIZHZ X5, FEBRIE
BV, DMORLAMED10FLEEZFES ISR LA S, ThEEEMPETS
BAITNRETH S, SABHEHTIE 2 EROEFICHEBEHEYTINTOIHITE 55, R
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7 ~11TIE., B2 %EIT5, 6 RE1IFORBIZFVALBHEZE IR T3S, Math
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7310 hundreds Th B Z & Z#FHBHAL T35, X 512, 6234 6 hundreds 2 tens 3 ones®D ¥ A
IZ62tens3oneskEKINB I L EFHHL T35,
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6RRIZ 45 ADERTHS, ARETHHT, ILOHFDOMEIZAD S Z & #FHWT 5,
305400 15 EPHEANTH 535% 455 AL TA0ETHHHEEWNTDH 5, 100147,
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A=, Fy PRI, oy h—0DIb, HELAHMHOMIIEIrNZREOAREKA T
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FIOERAEWETDIZ, BERICED2DOEREMA T, XY 7=THETHERLTVE, ZD
SEEEPDBDIIEEEZITM 25D, KREOWBFHOHEE2 S . NEOEBEANEEL
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(3+4) +7=d+ (4+7). m+6+2=6+10. (54+4) + (24+6) =10
+paZEnSHEEHEh T3 (RBED 2 DIFEBTRNTH B),

3 FRIZ106%. 100f5. 1000f5 L 722 LEDOKRDF T, ThEKD/$ 8 — v EHWEEHE
LT TS,

8 +5=13. 8ones+ 5ones= 13 ones. 80 + 50 = 130 : 8tens+ 5tens= 13 tens.
800 + 500 = 1,300 : 8 hundreds—+ 5 hudreds= 13 hundreds &9 FHB%2 5 2 CTEHE X
HTn5,

4+5=a, 40+50=b., 400 +500 =c Z#FE XX 3BEL 5163, ThHid,

Mermaesme LCRAE
CHEWAAEEZ T, SRS Write the number that makes each sentence true.

4. 3+6=12 5. b+7=15 6. 4+5=8

L LT, %75 75HW-ER 30 + 60 = ¢t p+70 =150 40 + h = 80
300 + 600 =5 g+ 700 = 1,500 400 + g = 800
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7 MLk 4 BT HRARGS, About 500 Animals Saved
3, AT TRE AMOEHMYL & There are 212 dogs at the animal | 1 ‘

Zh b DR O F 4 1R 55 rabots. About how many

Objucﬁmﬁorm lusions about whether to esti or
find an exact answer.

¥ Problem Solving: Reading for Math

Estimate or Exact Answer

L. 373324 —%k0 8K Pesdine esonabier
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Decide if you need to estimate or find an exact sum.

N2MFR &S D Y | %ilﬁm
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10881 3 L LoD R LK
T AR 200 2 [ERA R L X2 FrEaiE s O BEoFE
T, B0 EXOOKNMN 212k 28428 T 5,

1FAE, T2 &2 0L CERERET S, Xy MNEEAT, R, #HZhZhoz o
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The headline reads “about 500.“ This is not an exact

number. You can estimate to see if it is reasonable.

212 rounds to 200, 199 rounds to 200. 98 rounds to 100.
Add: 200 + 200 + 100 = 500

There are about 500 animais. The headline is reasonable.

(LR -SILEP o is your answer reasonable? Why or why not?
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Objective: Identify unimportant or extra information in a problem.

» Problem Solving: Reading for Math

Identify Extra Information

Flower Show Opens

I ITbh Toakny, LTI What beautiful flowers! One
_ display won a blue ribbon. it had
BE. B CIES- T VAT VA 28 flowers. Seven of the flowers
were white roses. How many of
L %@i%é‘ % *& - 7;.: ) ﬁ 3 E—_;& k ;éa the flowers were not white roses?
N o READING p Important and Unimportant Information
ﬂ?l D WGT b é ° SKiL Some facts are important. They help you solve the 3
= -3 o N problem. Other facts are not important. They do not help. E
4 ﬁ‘igl % %ab}o H' 6¥% n Tb e What do you One display won a ribbon. The :
. s know? display has 28 flowers. 7 flowers
V) @%@T 5 5 o 2 f?‘l?)ﬁo)@g arepwzite roses. " e
- = » What do you The number of flowers in the
21 E% % g@ LT % o need to find? display that are not white roses.
= e What information One display won a ribbon.
Sﬁ%‘i\ 3&&0)5"%%:1‘3550 is unimportant? e .
. . < R e e L R e A i e U P R S T e
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5, By, B ODELSRBRAEME L CHAELEEBLRET S, Bid, FOKE IR
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3T, BROBEE KD 5%FTH 5, 10:45AM.5 512:15P.M. F TORE %K 5,
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7 VOO Y, dEISEFNTA256200y A7z>TWET 2, BEDORYRD 5,
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EHSEIT, “ZEREE) 2T 7T, PUROBMEL WL DrDEO»THEFET S,
HKETIHXAXIE3DAETHD., HEOBELHIZ K > TV D, KamXTid, REBHIC
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EAT6NDEEHNT 6 X 4=4X6%mRL TS, arrayiZ I AN T TR
HEEFEHRL TS,

A BB LELHATHEAML . ¥R T AF—LBET V2% T 5B, HFF— L33 A
THi%, R THABRBMT S22, LVWHE, EOFREAVIPEEL2ELLND,
4 ¥ F TR TV S,

S5FHI2DEBRE5OBRONTIHTH S, KT 2HEROEETH 5, MEREY 2 H
60RIE 2 DB S T\ 5,

6RIZ3IDBELADBEONTEHTHS, 3X4%523X2+3X2L, 4,8,1204 LV
TEET 52 O00KHEEFHHAL T 5, SHEBED 2 E550BHE N T 5,

7RISR FROFE T, BORLBAIZRD S, 2—7 2D 15HIEZS5 A, 24
HiZ10A. 3HHIZI5A. 4FHIZ20AE WD K HIZRLAEHZ T05, THIHIZMAW
B, W% 4 BREFHETHEL,

SFZ0OL 1OMHEE¥S, 1,00MEELT, 1O272F0Hnfll (nX1) i&n,
0DH»7=F0Hnfll (nX0) 204, LEIZHMELARTWS, nD»2F 0 11HE
EL nOLEEDR 0 OVBTEFEHIZ IR TS, ZOHEOFHRHIZELBEDOHRT
HThH5b,

IHIE/YAASUTONTEE, BERELSEE TS, 4IATDORES 5 /NG THIA
HBENPEVSIBBEAIZHOSON TS,

103RAIL. [ER#% 5 EBICHZ->THES Y a—%, ABL, 32—V HN, £V AD
HA ORI L, 1EM O Lo, Lk, HEER. MR s AL L2
EAICIC, 1HEBTHERBAET 2. SERL4E»THRE23HETS, ZL T, EDY 3
— B0 &S, Bid, ABPEZHE, ERRSAH I E2FTE5, K
B HIE 5 750D 2 — TEFHITH T ADIZ, 1 A»5 5 ADBHRIZDONT, —&
BRI T ORI ohdhEdT L, RiZZE03, ZUTHERYN. AT 2@EUIA
BIZHABIL TR ENIRESRKD LONE S PR E B,

FBOeTIX, b6, ZBL, EZTE BNTF—<T, »IHEDGHEAEET S, &2
ED Xz, BRZEic, ANERZZFHETIZEN, DTEOWAWAEWEEZVO LN
GRIEZR A B K 5720, R > TV BEETIT AN,

102 6D . 13~15BI7FDFENETH 5, O HEIL [ ROWE DO SHBL R
ERET S, RETOROPTRIZEATS, 3D20BO»THRAEATS, PITHEEHE
FROGHITHW S, MERRFREERBNWEBELRESES] Thd, 1 ~4FTEIL2T
HaxeHEH L, 5~108RTIE. ZNo2ILHT S, 4REI10BROEDDICEKBEDEEF I L
2, TROHKDLDIZIE, MEMEAHZE I TS, BERIZINEHOMEMEYH 5, A
LT, IWOBEEIZ10v AL BT — 25 FIZ6MABGET 3 &M~ A L4 TL &
VMBI N TS,

1P HBOFET, 1 X125 10X 10X T#EET S, ZITEHFBA¥ETS
BERIDFOHMBTE U,

2RI LEETHATONERRIRTH S, KA 8 FIL, FHA5 FLEWS INZKITO



BaEke. [LAERFERIRORE 5 AZENW CEERITICTZE4. BEdn<sTL
£ EVWSHOXEAMWTABRBEFETHET S, B8l & LT.” KA. T
HOYITF A BB EL” 2 LHH, SFHANS TN 5B,

SHIL6DERL 8DEDEIETHS, 6X4% (3X4) + (3X4) 4+4+4+
4+4+40280) THAT 5, HEBES 2 HAQEBB Eh T 5,

4B TOBRDEETHS, TX6=6X6+6L6+6+6+6+6+6+6D2M
D THAT S,

50D AERKDBETHTH B, 1ABIOAEETE S b7 7EHAVTHRHALT
W5, 5X10 (1005f%) =5tens=50. 3 X10=10+ 10+ 10. KEH L TD10&
VEIED 3 DOHETKD TS, 12X 10, 32X 10 & L  BEMEIZE > T\ 3,

6T IDERDEHETHS, IXTHI0XT—7,, IEIDT7 VD 2 FHETHMHL
T3, BRYIDFEIPTEOMEL L TOEFIHEBTE B0, IDBROEZED LS IS
BADDIZIIFERERKL S,

TRI. PTEREFHOAEETH S, HEORNEELXD, 12X 12 FTOPTER
FiZk->Tnb, BEMONTEXSMBEXS5EHLWILAMBEIE TS, HEHEIC
3. 13X 2, 16X2A2E0ANTELTURE SR Eh T3,

SRIIMERRTEAH VM S
AEDEORETH B, "HiH

Olaiecm Make an organized list to soive a problem.

PmHmn&hmg:ﬂm&wy

ABATIDIC. G, K A Make an Organized List
BT UrEEH. ¥713
Read Read the problem 3
Bt 108 L 5 RIFTRE L fIfE - ,;":‘“9"‘“9:“‘"";;"“
_ o e at All-Trail Bike Store. She can
ﬁo) Eﬁﬂﬁﬁ‘ LRI LIZEDE glk:s:;dni:‘uknt;:naﬁgkr;:(;kr;ci:g
AT, LVSERH IR TS, 3;,’;2:‘,;,&“%“%&3 ; —
N N does Nora have to choose from? .
4 B FIRTH S 2, ReERL -Wht::oyou&naw? Her choices are red or green bike,
3 10- tai
T8ETHSHIE4HB. BN o facing bike, T o
+ What do you need How many bikes she has
2RI LS fgEnpgEL _____ tofind? to choose from
HA5. IRCTIIID o o ke oo o of st it s
9 %%li 3 O@ﬁ@i]‘ﬁ'%f‘& _ bzmmyour!isttoansw«mequesbon.
B, 68D I ZINATRITICH mustﬁuposubleb«kes Then count the number of choices.
N 1. mountain, red, 3-speed S. racing, red, 3-speed
T35, N2, 55T, BFiS 4 2. mountain, red, 10-speed 6. racing, red, 10-speed |
3. mountain, green, 3-speed 7. racing, green, 3-speed
Bhd, EETHMAFENRENE N 4. mountain, green, 10-speed 8. racing, green, 10-speed
Nora has 8 different bikes to choose from. 4
SHEMH IR TS, KiZENWT ‘
Look Bach id solve this problem in a diff ?
BSDL. 1HIT, 5XAN, 7 qeemaap Homcoddys e

TUTINZADER 6 27 TI120A
R 2B DOHETHEL,
2X9X 5%, HAaMEEL., TH|HEEHNT, 9 X 10IZHL T, BETHL ks
WAL T3, MERMES0EE», 2B ERBIhTHh3,
108RATIIIRIT S 7 v #50T%, 1HEBORITE S50, BRELT, ROMIZ, MK
T8, N2, SO EH», TEEABEMIIERTS D, A7 LD s 7 T 3EEIRICK
STRENTWDS, ThEAEICIZ, R EHETFIICHEIAT 5 & LT, MEEDOHRITEHEA

X4 MRIERRTE (EZPY A FE2ES)



ATCoNDh, BEWLOPOBPHEIA TS, BiX, NEHEKEZRETHZES
DI, WNERREZT = 18, 28, 3SMOBLXDEE LRI ETENS -F IR
BB EFEEREED,

B 7 I, AREDON BT -7 T, bDOROBMESEFAZR, BEEBREASI0LLTO
DOEEZEFRTS, "BETEAABIIATE” LWV EIBEATEL, “Hovg (FEH
EoD 2 4 by OMBROKBIHE) #0550 £ 2I3ET 22857 LS R
HREATHBHEPEPEERLESZNZNY EOEITREC &,

1A 5K, 13~15I5FDEREITLTH 5, EOHEZ [ FEHEH D HOMEHRD
SRR ABET S, BRE5 ETOLOHEAEAT S, EFEOHBETHLOEEICHT
5, MERRFEERBENEZ2REIES] THbd, 1 ~68TIE, boEEEHL,
7~ THLDEAIEHATS, 6 RL1NBOKRDODIZAKEDEEDO L YL H D, £7-.
10FKICH D HOGHEBE,NH 5, BRICINHOHYME S5, AL LT, 7I1\7
MEHY T ANZTINTODE 6 HAOFHIBIMTO I Y V7 —-BREIRBRDOE
ERT.ZNFN—ADHY V&5 - ADFIAELZIHY L THWELEELIHE TS,

1BEDVROBRKRAZMBRITEZIFETHS, DODHEE, "W DD —-TRNbbB»
(A&, 232D -T2 DH5» (F57R) #KDB 2 DO EH WS
B, CEHLT, 2HOLOHEART TFEIETHS, 7Yy 2#15ABLLS + 3
EFHELELEIDEVIEAIILZS>TWS, O A Y 2E2FLWI DD —TFIT5
TELEIEWSFRROBAS > T, RORBTIE, 18% 6 D323t 5LEH 450D F
Th, EVSBEROGEICIE->THS, BAETIE, EB561 - HP6BALT, Th
AR L 2otk AL Tn
5, —DOEMEL-%. fhhEE P ,
ATEDORENEEZ B, 16D avoe | 1o explore diviion.
BV R ECACENTES e [
2. 3 A, A ADBBIXE I L J
WIBAH TR TS, BnTh

T, bFEDLRHBDIEE, bDE Work Together
B > Use counters to model the problem. { You Wil Need
DABHEMETH S, TN o ot 1 COUTLATS e * two-color
FOEEEHERXCIOIIEEL o o ety coamtore e b c8h groupt
- &:&%25 * Record your work in a table.
2HEBDVREZG|ZEHDOEDR

LCHMLTWS, RAETIE.
ZHIAERHROFTHIZHNS Z &
MEBVWH, TIZTIH, ThERBEESTE., BRXIWIZEEL TRk T3,

SHEINTHLEDLOVEOMEBAEFE TS, 24 +3 2KD5DIZ, 3 X8 (WHAETIZ
8 X 3) HOWAITIWZ L&2¢H T2, [MEBABETHREED 1 BB C4BOMG %1
57 INE I DOFIZFHFELL T CEED 72, —DDOFITITN L ODDEA DD 5 =h .
EVIBITHO, BEFIONEIZLEARAA TV S,

A BILEEFGATORERR TH S, HitO» =0 18HAH O TRE I HAEERL

X5 4hEDOFH



720, EORBIZLRCARKOMLIAHES L L2256 1 2ORBIZIZWL OS5
EABRBETETHL, E0tEEHS Lo MM Ih T35,

SR 2 THIZHETH D, "HOFINOFE T, Wle Tl 1 H 20X 5, i
AURRE X ZIZEMELA2EH27, CWSEAHEh TS, BEHR LA 0 »514F T 2
EUTHADZHEL, nX2=14, 7TX2=14. 14+2=7 T HEELT,

6 I 5 THIZHLNETHS, WHABETIRREREATOLDEOEZHFIZL Tk,
h+5=20, 4Xr=16. (6+b) +5=2LLOMEMIRIN T3S, WA
BREERNEZHIZOT 27012, BAETEHD AR TIHERS,

7TRIEERRFEOEETH
%, BEICEREBOBER
EhTH63., ZHIIXOFHRAIC
HrhTWbrZ e, HfE4 AL

nc.)bjective: Choose a strategy to solve a problem.

EN Problem SQ|vingz Strategy
"Ngj Choose a Strategy

. Read Enzo and 3 other students

ErNT. “Enzo KE3I AN & are studying the moons of
Jupiter. If each student studies

=5 Ay N Jo Bk Vs the same number of moons,

NN B ik ST & St how many moons does each SN -

jj D l‘fj‘]J: )5‘, - Ty % o person study? Juplter has 16 known moone.
* What do you know? 4 students are studying moons.

SFRlX 3 THIAEEAEET ® What do you need to find? how many moons each is

studying

5. M6 RIEERRTHOSY

IRIL4 CHIBEHETHSB, v
T A20ATREDL K- 2EBLDIZ, EDBET—~L LB LtED~Y—2 1244
ANERTEZ I T TRENRTHT, KBIZIZ 2D, 2RI 12B»rh T3, B
RS> ETRIZIINLS D07 —2 2 AT IO E WS BIRH I TS, M
ZETHDHH, REOFHKEZ LFIIHD T35,

108130 1 %2fHi572b0HTHS, 44, 0+4%3HL, 4+ 02HETELZL
T EFTw3, OLUNDOKDBE. TORTHS7BE. BT 1 THEZ %3
BRL =%, 327 + 327 2Kk BT 3, 2D LS 3. MFAFLEED. mPlrE
ZEEEOSDICEETH S,

113RAI. FHIRDOBACERE T, REWAE (9 H) CHHEAE (2 H) 1IZBL., &
B, ®AB. RORK, Bk, BEO—A1HB ) DHHEGEMSETEZ SN, B
LEBRBHENhS, BREBICOLAZZRBEEHE S 2HLELETH, ThEAEETT
MEVIEBHENSE, RADAGPEREOHBELABM L 2o T35, BEKFEE —EIC
HXFEHAONIPDERTH S, ISEDOKTINEIELHBEELTE 1 E S »EFANRS,

B8 EIZ, R BOHIR LW\ H T - T, bDREIIDWTHES, PITHOMER,
GIEEOBOERLD 2 FEEPOIIERT S,

SHENOHED ., LI~1BEIFDEHNETH S, ZOHER [»IRLHYEOMBEKRD
BB EBET S, BREPRETOLDREHNT S, EEORBH THLYHELHT
%, MERRFEERBNEEZELZRBEESES] THD, 1 ~3FTE., 9FTOLNESE
FELU. 4~8# T, 10~120b0HELINHA¥E TS, 3FL 8RDKDDIZAFEDE
BOFIADESS, THEOKRDDICHYEOHERES S 5, BERICINHDOHMEME S
5, MALLT, Yy 7—%2R0'%, Bai B EES . FTBIE2HEkS D& A DKDEE



HEMRINT, "BEHKEVVETKE KD F’

Use the Data
ZIED K5 GEOKOER R, KE How Water Is Used
XTKE MESTZHBAEDEBEEZ 5 5T9,
HWEXTHS KOEA2DHLDETKDF L & ) |
27T EVWHREBHENRTWS, G T — CActivity v Aiﬁ&mi;nfwaui(pemmmy)

. ‘ Take a shower™ "~ * |"* between’1S and 30 gallons
/ 3 = e, . . :'« 2R T -
257 *ﬁ THfbI T3, ~Run‘a dishwasher -~ | . between10-and 25 gallons

13812 6L 7 Ik3b0ETHS, 24 = -Wash dishes by hand -~ “3r~'ab”dut:?0‘§§ﬁgniQ

Source: World Aimanac and Book of Focts
6 #tH T LD, FIEEFTERULIATHE
DOWHE A FAWTRD B3 FEoN ., BEO « Running a dishwasher with the least amount

o A of water uses about 5 times as much water as

o) - - = N * brushi teeth with th test :
3 Tl SRR EEIC 2 THIS Sk, 6 0F oo e s gt amoun
DBINT > TR B HHD 3 D& LT ke sl someors v e ahe
N ?

W3, 42+ 7 ARDBBAITIE. 6 DBA of water?
D2 HBHOFEMEZLVDT, RbDIZ7 7 HoFEARE

DEVTRASEEE, D 2DODFETHA TS, HR6 &7 T4 DHEEHA
5bHITT, RELLEVPDLETH S, 2 HMAMORI A< . REAWZL O, XEEELE
rEEND,

2 RIEIXEEFHATOMERITH 5,
4 BT TR HEBCETH 5, &
AEOFEMEIX, FERRZT T, X
TRME I B L 728 D30, &
fhim BN T2 A, BEFIOE
MEICLELIRETH B,

3RIZBLIITKEIDOETH D,

" Ob

o potve p

) Probiem Solving: Reading for Math
Solve Multistep Problems

jaenie raises 39.00 recyching cans.
Mr»mmcusmmhncydng

Read

v

You make inferences based on
things you know or that ace hinted

16 8L 27+9%., 13 D42+ 7TH Rieston hat you have o wter

N . ~ * What do you know? How much be raised;
L\f: 3%‘&’6‘5%‘3}3 [/Tbléo 1%&@%‘: 'mddf’mm %ﬁmmwm
52 DIEE A< " Whatconyoulofer? e b rotedrerchen

= a N 3 ReST-m v L
4%@%%%&?%@%%T\/}ﬁx e

BHae “RUAT T, #AXSE” FETHL, mwmhom.osaw:mnmmmmw ¢

SAXTVEEREREDYE T, 9L, BN h Multipiy 1o find the amount raised recycling bottles,

bottles, ¢
Add 1o find the total amount ralsed, Di\ndetoﬂﬂd

;nuxwﬂeﬂd)gmupvwﬂrruw«

T2ADEE, T REHFILFEONS 2 L e GO I
Look Back N answer reasonabie?
SHMTHS, [BR6PTT A4 A 398 3%, ’
T 5L EORNUATE ALY & s GA DN SR

Vo B5F], TAX VATAE T EMIZART S ] L@k rHAVL TS, RAETIX,
ZOEI B EFESNYZDITEWTRIIFEEINVE B TH I, EVDHATEHHERTIENLS
DIFEBELZ Y 25252 MR20DT, ZOEIBFEEAHIRETHA S,

5 FRIF0ICKBDDHTH S, WHAETIE, Z4id. 1065, 10050 FEREIC —#ICH
B35, 12EZEDOHRED D HHKTIE, 11, 2CHZHRLAZI IV ENH 572022
FET S, AEERAEM S THHL T2 FDFFELL AL,

6RIZOX 025 12X 12ETONTREXEHV =DDEOFETH S, »ITEOWET
BHTHBHIZEAEMMALTEIZ, 11, 12TH33E%2. Z4Rarnsko 3,

- 1723 [



7TRIIMEOE (aXb=c %@z dllia,b,c) ZHVTaXb=c, c+a=b,
bXa=c, ctb=aDBRaHEBL. ThSDMDO—DONKANTH2HE431HT 5,
REHWE D, XEELE2GCHB 2HITRIME I A TH S,

8RATIE. BERHE Y 7 7D 3 DOFFHAE LN AHHE A E1NH D, FENEHRSE
. WRERERE. WEINE., BHHA AN TS, ZThoDABTLHEMBL, WDO»
DEIHEAZ L TEDFBBEBINRET S5, BTIZ, REEN 4L ETESLZLEBEIZ, A
MAR (2L 2F) TEILEERIEI B30 5iMHIT5, 4B L SITTEW%A
HDEFFHFILBARBOPB[ETHIHHEEL IS,

ORI, WER 2S5 T 7T, 2HULEOKE -HOEDLTREAESR, 28
TIRFIL/32 —VOREAEBL A, PTEO—DOOWHEAHIZ D TH D, RWEIZ & Bk
ER7E 58D TH S, RRBOMEAELHD ANTWS, BMELFHMT 5,

9IRS, N~BREIBOEHANETH S, ZOHEL [ 2HU OO TR LE
AT 3, 2HILLEDOBO 2T EOMESHIHEBREZEE TS, 2HE LOBA#T 255 +2E
AETIRATS, MECMERREFELREIES, REWEEL2RBEIES] TH B,

1~6RT2MHUEDOPTREAFEY., 7~ 9 TIOHT S, 6L IFDKRDLDIZARE
THELEESAIDOF IS S, BERICINHOMERME Y S5, AL LT, kKU —-2&
FOH— FOHBHEEEZFIHL T, »23FBFDOH— F% 58F-> T b L0 5 OffifEA
bEhEHREEES,

1 BRT10DEERD 2 MBITHNT 23R E2¥EE TS5, 4 X 30 (30D 45 %, 10ME3D
REDOHEIDDAEERNTRD %, KVBELFEBROBEETH S, 30120 DEHT -
S0l ETH, LWOSHEHBEIN TV, ZOLS EEDFEFHIIH LN EME
HELEZS,

2EIATEOINE -V EFET D, 4X 100 (1000 4 %) %#EEHTBDIZ, 4 X1,
4X 10, 4X 100D 3 D2FFHHEIHETHEFEELETNS, 4 X5=n, 4 Xm= 200,
p X 500 = 2,000, 4 X 5000 =4q® 4 DOREE@»E TS, ZTD&S EBITHMLE
TELHEATRETH S,

A 2B 1 MBS EFANS, 3X 4 E2KDBDIZ, BrETTuyrDHOZF
DAH3IDODHBLT, I8 HEEELEE, AL T3, RBEELEDLLEVWTFETH 5,

4R, 3RITHOTC2HMBD 1 BIE 2 FET5. 8y FDAFLVWSEREH D,
INEDPTEOEAIZE K> TS, MEMNEY 2 A L6782 h T3,

S5BEIPTHOBMELXH TS, 9X 2 2EHETHDIC, 9X 40 THBETIHEEE
S, EHEZEHTIEETH S, 8§ X 7,040 DEEMSHICHIT 6o h T35,

6 RN EBEFATORERRTH S, FHLAHELEMADE LS EH VLI LEZLE
5, Mattid 1 Y MEEZEDTWET, BLEAZ 1Y MEEZ 6 W< hF L,
—RZII2UMA > T E T, MattDH U XA RBTE L2100 LS =T L 327, &
WS X aFiA, FHESHERLEY, METLIVW»E2ZLA0E, 4BEFETHRE KD
%,

7 RIIREBROTHRT, EPOEI VI T EERTEIFETH S, WEFRI2AE 1
AL L7209 7 EERT 55, 66 AR42AE NI 12THIZ L0512 55808 HD, &



DESIHETHO», kD 5,

SARIX 3N, 4N BD 1 EEEKDS, 3MNHEDOBZBAEE XA NLTHMHT S, 460
BUIZOWTIREARZWE FHE I N TS, RPBEDOF P EEGRMICTRIZHAL T 5,

9 AL, 25N LT, AI v I/REMMAMIZESI VS HETHD, 1FHOY Y —X
&, 1125800, 33258, 2FHIESMA 1 /802, 289018y =Dk
BoTNT, 28y r—Vflilg»B1550 F L ThH ), 3FEHIZ 1ML N0, 6T 5 Ml
. OMT8MHiiRTH 5, “1MAFEHEZ LD, 2FHD 18y r — OB,
3HEHAZ IOMES L&, FOBEMDOKZ., “EoaIyrsiHOWAA, ZOHHEI
EVS B, BTIE, #ROZD. 1EBIZBEXZFEMEHXEOMBEFRIE S,
1THIZBRAZRMEBEOROMAERD ., Thix 7L T AR TENRSIBEZEHET 5,

FIOEIL “—HEIIRAHD LI T T, INMBUCKSDDEEAFE TS, KDY
D EFIcasmE, YD TCL PN DRI TS, ZThH3BENZED
2BTHD., WHBETEE<HDANSINETH 5B,

1082680 . 13~15M5DFEANETH 5, HOHET [ 1BICK2DDEAEA
T35, INBICES2DDFEOMESHFMEHET S, 1UBICK DD EEFAEETIEH
T35, MRALMERREFELIREESES, RENEZEREBEEE] Thb,

1~5THODEEFEEL, 6 ~10FTthzI0HTS. 5HLI0BRDOKDDIZATET
FELEETO PV LBHEINR TS, BERICUHOKMENE S S, HALL T, &
IS5 AERH E LAY b5 7 2ERLZBADKE XA E A ¥ %, Math Word
L UTRE. #RB BER. BRE. B, ®RO. BAN4720 (per) 2EAT S,

1 RISHRE 0D EROBEEFE TS, 80 ~ 4 #RX10DTHE 8 ARE 4 F57L
THREE %, 250 + 5 RBRICEHREB2SAREZHWTHVT S, §4Hb5104 K& LT
A ERWEEHETH 5,

2HIDbVEONE -V EEHTS, 3+3.30+3.300+3D3D25HD LY. 3
oo 1. 3MD10. 3MD100. #ZhZh 3 THIEHETHHI L #HRAIES,
“4+2=n_ 40+2=t, 400+2=p" R “30+6=y. s+6=50" HEINHE
ENTHENELLSELHBTEL LI LRI TS, ZO&D ZRIZEMSEIZEE
ALz,

SERIXEAN 2T E B 2B+ 1N BO¥EETH 5, GHEHREHNT, RHEEFH
RO BFETHEET S,

4RI3ROERT, bF V21D 2GEEFE TS, BHIPIRVBEL D BOVREREPT S,

SERIINEEAFRAT., 4BREFHETHEKRDIMERRTH D, HFDDOMEREEYT
%o 2ANDKRT T 4 TH, BHIOEHNVEYOBBIZH 2T 5, ®E6 AD/NY T IR,
HEDINY BN E NS BB LEIZE TS, 1S5 FLOXRYFIE36FILTLL D
HAS»L 0I5 F0DAUDIETA3MEHRB IR TS,

6T, FETHIT2HLDEOMBETH S, 175 + 4 2KODBZ3DIZ, 4 DFERTH 5
160&£200% FY T, 160 +4, 200 -4 DEBLBME L LTSI bLLWLEE L I E5,
WIZZDEI EBENTEIHEETBICIDLAKETHS, SHOMEEL LT,
“55 X 3 =165, 555 X 3 = 1,665, 5,555 X 3 = 16,665 T¥, 55555 X 3F < DTY



2 EVWINEDORNBE LI 6N TS, ZD&D hmBEELEHTIAMEEETHS
LEZ 5,

TEHEINB- 1MBD¥EETH B, 557 ~ 4 DFEEAXRMBE L ERRICHAL TS,
B HEDDH S5 EAHAT 5, MEBEL 2 H53EEHK I T 5,

8 RIIMEMRTFHEOEYR T, FHERINZ S, 24 VFORIOE»5 94 Vv FD
WM e B S BAERS DI, MEELS, RE2FL LS “FHETHE IS,

IRIIMWIIEF 0 BIN S5 T  Example

B 5. 420+ 4 % ATE L T find 47429 to solve the problem.
o - (3 3
vV V¥
5 o Decide where Divide the Bring down the Bring down the ones.
10RAIL. 25ATE Y =g ZITHF  |nevagnm || Cona, e the | Dwde the ones.
the quotient.
SDIZ—ERIZEEL-E HE A
5hH%45%%2 5, 81M1.39F LD eixazafl o4l -4
o N o O, -0 ot _g Py L
M. 50% v 7229 LD v 7. Compare: -5 g"g‘f“‘ ~5g Subtract
o<4 5g Do 8=
204w F1LI9F LD » 7. 2 F e
e . . . mm; g{i The || Think: Find the Think: There are :’hin&: find the closest
o ~ 1'T ~ ’
X9 BEIC0OnDE2HhFEDOHADHE

RA VRS FAND,

FUEF, “ZE—VET 4y FRRT LS T -, HEBEFET S, HEER
TOWL D DEEFE L TSR T 5, BUS10EE TRV 62, EHEEBES
EAE KD 2,

12250, 13~15[a13 D FHNETH 5, BOHEIE [HETORIEM. »— b
EOUEMBOBSHBIMARET 5, HEEOTROEB/L+HET., BERRFEERE
X5, flEEsEEOBE TIRHET S Th 5,

1~5FTHEMEAFHL, 6 ~12RTEZTIEZILHT S, 5RL1I2BDOKDDIZAET
ZELERAO P APHAR A TS, BRINEOMERE S5, BAL LT, N
L—FR—=, N2y bF—, o h—, RusloOBEHRoRX&Es 5 7 TELE
X&HWT, RE&lREw 5,

13IHERSBXE2¥YETS, Y—F, 74 —F, A VFOHEEBEREBRBL T, HL
D L%, PHRMELWELLEERTHl- 42083 5,

SHIHEFESBEREFE TS, #o T MV b, 22—, AuryOMHAEREKREE
LT, M. P2 —AKRbML, By T uEE, BIEED1HEN»E2TFPREES, &
72, IMENZEDDOFREDEDWEIA S v Th, sr— Lt HarraBEiixds, AE
DEBOHMNAEASIRIDEIHEETH S, BHMOFREES0H 2, 507 +— ., 50734
VoI LMEH B,

3BIHEHEYERA2FEHTSE, AV A, RV FOHAEBEBRABEMBL T, ¥V RVIERK,
INU—FR—LERBZhZh, ZFT1A VA, 1RV FTHBHZEEHMTSB, /Ny bH3
KU FE, 3FAVZADEBLLITIHOVEI»E2FAIHES, 2FHFROFFIHRNTEE
BEDDEBETREIEEN. RICAEPES E-oTNE LR UELNE,

ARIHEOHNOERTH S, RO vy F v —T L — OIFI2A VF% T 4 — MIC



BEREENZT», A=V V7O 3 1ADESN3 74— FOIE=ARICEE IR T
WBM, FRIE, fiIA4 v Fh, T—FH, AE—YFY 2127 1 — b EBATE A,
ZFhifAa sy »ixE, HEICBRN S BOHN # LRI T35,

5 B3N EAFATOREMRTH S, “T4 v VX225 TOWEPKV T, 2 74 —F
BEA 22, 194 v FRA &, 264 VFRAZETED S KELS kAL EFIRL AN Z
MZIEL WA &0 S % 4 BFE TR THL,

6,7, 8 EA - MLEBEDOEYHT, ZhZFh, A=, T A=, LVF A—}
LNEROT1IRERBROEE, Vo bLEIY Y PLERWT2H L EMOTE, 75
LeF a7 LERHOT3IREERDOTEET S,

OFIE, 6~ 8 THALA— METOHNERTH S, A—FLEELVFA—PIL
ISR 2R E¥ET 5,

10 3SR PROFH T3 Ha v 5 Hu DR L Elio T4 Huarokekkd
FEEZEZZES,

1HARIREOHMADOFE T, HREFERDOEVLEFESR, LOEOHOREIZ, BIK208E
2, HER20E & WD FHOBBPHE I T 5,

128RA1%. Sy 7Ly MI#Erh R, X, B, BHFOHEE ARG L TRED
KERIT %2, EOWL, KOF v v T, XOZXF—DEA»ITRET S, Bid, KD
HES 3O T LN FEZRICLR VD, MOTHAIHFOEINE SR »E2HEHET S,

F12EIE “BR WO T T, REEFETS. A, WUAKLETSH 5HHE
DEFLBIZIARD & IERAFE. EAAR., B, YTRRELZE L OREREA SIS,
e DXL A0 ERTH 5, Hl. IO Es 3 FTHA S, M.
R EEAT S,

1582 6D . 13~15R13DOFHNETH 5, B=OHEIL AR, HPLE X,
KO BRH2 5, HE., FE. AROBENEREZBET S, FRikE & T RXEO
A EEET 5. EE2EFEOBHCIOHT 5, PMERLTFEEsRESYS] THD,

1~ 7HTHEEEEL. 8~158TILAT S, 7THLISEOKDLDICATETEH L /2
DO P YALPHB IR TS, BRICNHOHEEME 5, AL LT, #WOEH
ART, ZZICRZBRBEEL XY S,

1RSI 2 228, k4 B KRB ROHES, MESETHHAT S, AR, M
B LR, M8, DUMASE, ERK. K. THA, w4, BRI, dnd, dthimAEAd 5,

2HIFINEAEE T 5, MADOIEAK. BAK., A, MORKEZR T, Zho %
W24 5, ZAK. BAE. EAFOIKRE A EHRET 5,

3ERITAR. M. FER. METFET S, EBRICHUIERERTOIZ, WIZRANEGT
T3, BAOBAIREBRILIZL TS, ZOKS BEHROEXBIZRLSETIE, HEEE
HWOBEITHODEETH S, NAROBRETHOIDEEL CAZLERH D, /2.
B, ZET S 2B, PITa 2 AR, miR, PEA¥EIT S, EAKDNIVARKE
WAL 3SADETHREZNGICERTEHEOKE 52 T, HEK. AREEZXE5H
KERVBENZIZFHVWO N TAWELAH 5,

4RIZABOFETH S, ORI, LRI, LAk, AAa. A 4255,



B 72150 < o 7 BB & & & R

LTI T\13, P T length
SRMESFBAEET S, . A% |wee

A=flg. 0=, RA=AE. B rectangular prism

S, WA AEAZThEh, EEOYE T e
LEITHAT S, Y e
6 iIMUMIEE ¥R, EHFE. B, F cube cone
IR, £F. et EROLE LK TH
BHT%O
pyramid sphere

THREILEEFATORERRTH S, B e -
F%E 2 DAL -LAORED 4 ADE X K10 AKX
sz -2 AD D 23D B
NEZ 5B ADERIO2UDEX 4. K ety e

ERENORODEES, 4BRETEHETKkDS e,
2, KBETERSHEI NI TH S, N I$
K l\ = L\@%EY D }: v 5 %ﬁb‘&iﬁ é: Decide whether the angle Is jess than, equal to,
‘ij(% < 5\3&50 or greater than a right angle,

SO HNOWEZEAL . SR ?‘"'.5 6\
B3, ARIGHMHOKREIBATHEI I L% o
ERE D, SfBTEAL . WapT g P RO R EE. P,
=Bl R A R B B AT
FHE. E=fl. MOBa %
B 5. RAE L O IEEO I
BIZEVLWABRRA TS, RAEFET
SO SR 4RI

m Kito made a diagram of his :

505, MERPMEEUIHER X T ﬁﬁg%&ﬁﬁxw sie
2. labels are missing? 3ot i :
= N RIADING > Use an Hiustration ‘
9 :Ex% Fa—-21 ) B 7555@0) %* sy An illustration provides
& %g"ﬂ‘ 5 qzﬁ*ng *ﬁ V) 5@ L information to solve problems. 26 :

° N N * What do you know? Length of four walls
- S — - — * What do you need to find? What jabels are missing
iz RO F 2L —Y 3 ¥ (AR

- MATH D Use a Diagram
> =t A N -
}FZ’CU)%{% “”&)) é’i’%‘o oY s, A diagram is an #lustration that shows how parts join to

‘%h%‘\hd)ﬁbi’gb %%go SFﬁ‘ formawhole.Theiabe!sfurtheriéenﬁfymeparts.
BEIOME . 708 Lo, [ M1z B2 HSRROLAL B S
DAL ABA L THIT 5. BT LABORES 5, S#Ic 2 OB % £ <
B 3 203 HEERAE CERbhTLAL, RIBIGH 3 TRUD M &L & Bk
NEVSEANE BB S, S, TR AR AT AR TR AL & B0 B
LS EAH BB, TEEOEIICE > TRIARBNSHE > 2 THE 5D, 6 A
.

OB A 58T 5. EHHON 084 — T > TEAHAED . 12 & A CEHF
EAREVIOEM S, B, EARY. TANIY. BB & MGt E 5 m e Es 5.
AR PR T RO T, /35—y hskid B, Ao, L. MIESAIM. A




. HIE=AEHEDBRL 72RO 2
DO % 4 B TR TREY %,

g Oia»acm tdentify, descrive, and draw congruent. and similar figuees.

;Q}; Congruent and Similar Figures

128 3EEERD 5, HMELED  Learn J
L LH 50 BAORXEZD F o aahieln,
FEMANIERMIRE S, (it | kg e e deen drr
BRBEHOFT, BISHO  omm, | Sl
AANMMIZZ ANV DD B 0% o * i
AT S, W ORDEFR B e e the iz and shape of e doors ot
B AADE > BUUOERAR | ersorinesoon o1 ey v s congruent.
HBOIZ, HFIRROBE KA 5., 5 e wide. They ae th sam ste and shape.
MBS AROFE T, g4, BT The doors ae similar and congruent.
%3, W& 1ICHA BRI KA o i o o s dor 4
W DB BENKE XETVWS, KIC (Lt el and unite mide.
EXRORIDEDEET. KD X _The windows are similas, but not congruent. y
#TND, K13 ML AR

153RAI. STIRMEIC I 72Xy FL— 2 Work Together
> Explore different ways to slide, flip,

OHEBROKEAH T, Xy F., A#l, 7—7F and turn the triangle outline.
L. *nh FL w H— é, k D ck 5 z:gﬂ%‘:-ﬂ* 6 n Trace the triangle shape. Then move it
by sliding, flipping, or turing it. Trace

¥y b, Bii, KICBEE A2z ThaHF the shape after cach move.
ke sEomEs e Lcars | NI

DEfiNES. TEHpoEEOESEIT | N 4 .
ST 5 , F-UAE I 50 5 BVEL A, . A N
%:ﬁ k li[ﬁ?&@ Baﬁ?\“i% D %‘ Zi 6 hﬁb )0 Write thef:::vctaons for how to mo:::?\c shapes
to make your design.
BI3E, CWE T rvsyowc, MM EE PR, fToRL
DREHEREPE TS, 2F1BEFEUERBE  tonetion in this translation the

THBH, 1,2 RIEETHD, WEDHA . ‘A n e siaD
. BHARECEHT30ORBAENTEN ‘ A4 i v g e
DARTENES S, RAED 4 FETEE  omion
+ B RN B,

16827 55K 0 . 13~15[13DFEHNETH =
B, WOBME [ Bk KEapE N5 MROKBORE. FEE.
A OB R A M 5., SPOR & okl
EAMAT S, RENEEEFEE 5, MERLTHEAREEX 5] Ths,

|~ BRTHEAFRIL. 9 ~168BTIMT 5. 8aE 168DK DD ITATTEE L
O FIVLAHBEINTWS, ERIZINEHOSEEBE S 5, AL LT, W THHE
RAGEE A AFDEF A DL ¥ — g BARG. 2 ASBEDES Sk
P EOBEMAE LTS,

| RO 58T 5, AL LT, . 57, HREESATS. 58S
L piF7Fyvay b r—F04PNizaar o Unrhros THWAHAERL T, Eh

in this rotation the
rectangie was turned
2 times.




2Dy —FiZaatr vy VAL TOE T, LIBRHER TS, Ehant
.tT%%@.%TLT%ﬁfﬁéhTD%%@%ﬁéigéT%
2RRIIKZ EAR C o EFET
b5, 2HD1IBA45HFD1ID 2D T
HBZLEFRTE NS FEE A

o: Read and write fractions for parte of regions,

Parts of a Whole

) a
WTHMHT 3, BEAETEL-H Louisa baked this carrot cake.
She cut it into five equal parts,
LEZTEN, kEREFIHK | How much ofthe cake has
I THEHBL TS, onsgos | [ Example - N
oumarator the ‘ou can use a i o descri rt that
SHRAMDOINTH %, Lo [Smamli || ccomnions i
:ﬁﬁw Write the and the o 4 to show
. oAV L . BOE gunominater the correct. fraction
BEAMOZ LR TRIIL T e || | SEARSTIT § .
Bo S bl AHMT A THAB  Cnm | four o of e cake e cocomit iing
BT Iy, ORI A 2 B Nore B
EhTwa, @
4 RIS BHOER} 2 RN EF Yoo comot e foegion.  parts, 15 shaged.
45, 6O v F—DH 5O ;
FKET—DoOnADL &, 2D 65 M6 Srk

D1IMBATH B LFHAL T3,

5IEEHROE R ERDEIFETH B, 12045301 %KD B, 1252 4 DDH LWL
—FIZHTBZEIZKD, 204 5D1B3THDHIEE2HD,

63, SHMORETHS, 18D3AD2%, 2BODHKTRD S, 18% 3 DD%L
WL =TT, ED2OHMNI2THBILE, 18+3=6, 6X2=120D2R&»5
RDB, 1206505 KD B2, ThA12 X2 TH5HILIFZ I TEREMLEL,

7RI EAFKATOMERI TS S, Vo F— 512X E LI, 2O 1L —X
VEREELE, LA VYDASTOE 2 9 F-RBRBTARTLLY LS M%E 4B
FEFETHL .

8 MIEMABAEFET 5. 15 1o TOFHARMAL THAKOMEK, £LF, Ak
=BT 5,

9. 0RBHFOELVAROELHEAYS, =+ Ao Fhbb1THEILES
ﬁﬁ%%wT%aTéok HABOFELW2ODGKEMA S, V1 E2BALZEDEF
D, oty OBEAS B2 IIELNT Lk, HHEEROWS TRT, BRI
AEET .

11, 18RI BOFLWVAROG| EHA%SR, ELELERIC, 7ROFLWLG[EHE%E
SEEEACTEE L, KITWTOBEEBEE%R, BOETRAROEAR 4 4T
HO. APOEISEETH D, & oL POMMIIEETRETH S5,

BRIHEROEE TH B, "k<bED, =2lobxs, HECHE5, Mk rn"
D4 ODHEEHMT S,

H4RIIBETEIHERIIOWTEE TS, RETHUBED D 2EROES (possible
outcomes) #EMH T 5, ZOLS LRI ES. WENEK A > TRITANSED
LEZD, BEETEHEETNETH 5. “F L uOBARTLBACRICEBBAOE



X5 5FZ[I, HELFERo®” &
WOXOMAE B ZT\wWb, HiZk3
HERZ 2O 50 10T, 4D

Objective: Determine if outcomes are likely, unlikely, certain,
or impossibie.

hﬂmﬁﬂy

il‘ﬁlé:&-f(~@ A& E . < @ﬁﬁ%%% Mwwm;"‘ There are6yeuow raising and 1
1 - B : brown left in the box. Latisha is about
BT, 5 EREBILERMLT M~ Bk e ot
e s— flow L{ the box?
‘\50 ‘% L/VC‘ ZOIEIEiQﬁ LT%%% :cbrowrr‘»alrs;glr:’?m o or
RIZEHETWB,
= ¥ 25 ST Example
15 E% ‘i Fﬂﬂ %E ﬁg H% %3 (ﬁ 2 ? é T @ You can draw a picture to help you determine the likelihood,
TR N - bability, of an outcome.
B, Ny TORIZ, HBEEDN plaie
— F5' 5 lERDEED 7 — F A 1 | arone
BWA->TWS, EOBFEDH— FH it is certain that Latisha will pick a raisin.
- ' it is impossible that she will pick a green raisin,
@*&A 2 VC [ %) » é’ ﬁ’t & é IR & It is Jikely that she will pick a yellow raisin.
It is unlikely that she will pick a brown raisin.

WO RBMBEZ SR TS, fE¥EL
T, 159 POHO A — F & 1R B17 RET SHE
TEDH L TR, 4Ny IR U TIRAZTROBTEWS 2 & A28 $, 500EK
fFLfERAZ D26, TJuaya) =420, = O ryR 8l xhrz, ZOFKE
ERICHERR T AL W T2 AR TFHETITS . MEOBMESAHMIEIDIIENTHS
FHhLEZ B,
16GRAIT/ S —T 1 OBREZFET A0, MBOEERERL. TAZ5EDY Xt &2JCIC
&htf@bﬁ###%#&&%ﬁ%éﬁéoBl‘nz7vb‘ﬁﬁ‘nv—®§$—
NEL1IX—=—PMLOBENLHEE LZGAOBKARERY O X 28> THN, KT 5,

4B “FHERER" 237 -7 T, 5BE/NNEBEH#ED T 5, /MUK MBETIEX, 45
ETMNIINDGAEEFETS, 22T, M2HUOBALFEL., ThoDHKR, &
LEEFEET S, OEDHABFOEPLEE IR ELS,

113> S D, 13~15[A1DFHNETH 5, HEOHER [/MIDORE LA L[| 2 HAE
A?% SEENBROBEROBSHPEE AT 5, RERRTHEREEE 2 7R X

o N EFEAWMIZIICHT S]] Thsb,

1~5#Tmﬁ%$§ L 6~ TIEAT S, 5HEIROKDYDIZAETEY L -
WO FIVAPHEBEINRTWS, BRICNHOHEEBERH 5, AL LT, HRIZET
51007 & ZDE A L 72 £K A TTITKEORHESFOEIAS 2 0B E/NCTERR I E TN
%,

1ERE. B EDRAERRSZZEETHS, 1 FLDBI00LY b THB T &EFNTH0X
VM D= =05L ML TV B, 051301455 DL 03 HBlEE . "AEDH AT
ECH5,

2L, 1 Ly DEETH B, 35 =01, 15 =034 THWT 5. = 03 three
tenths&Fr Z L HENZDE ., 01233 D&2BIKT 5, HFIEFKIRO100ED~ X H %M
WT064% ED/INEEET, 06%0.60& &K L. 7N Zhsix tenths, sixty hundredths & I
S0, WAENCIZ A Uiy, MERED 2 H498EER N T 5,

3FRE. 1 XD K2V AEFHET S, HIRRE BOEHE 2 W CEAT 5,



4 X, MOKRKNEARDEETH 5,

Wirite as a fraction and-as a decimal.
2.07£2.48Tid., 248 KENWT &%, KE
X0 ZHERD DAL 2 HIRKLI007 X
DEHF AR CRY . Kz, Kz fn I I
L. ST OKFE KT 5 Hik Write: 5 = 0.1 Write: 3 = 0.3
% BV T3 +3, Read: one tenth Read: three tenths }

5 3. XEEFHATORIERRTH 5,
239 F LB EL2 P L DOERAEBAL T
5 FAMLTXAA-726820 30 605 l4A, COBEBEZMRWE»42E 2T 4 B
FHETHRIFETH S,

6 FiE. IMNEDRELEEFANS,

18 5. 1o~ 0-1. 001

Make Connections
2 DO/NEIZHIBT AEDOSEL - ::ia;ex:vly:mshawhowtoadddedmak. 3
EFNThOYZAHEYD, Tho % Using Models Using Paper and Pencil
PrEC. AERRERD S, 12 + - - R
14 ¥ L7205, 034 + 09 . E;%ﬂmﬂﬁﬁf

mal t in r anewer.

24+ 008 % E£FHT 5., 168+ | o
ol | - A8
AL T 352, mi&EIZHASBEYI 1.68 + 1.54 = 3.22
Ty, 4

. X119 /NEDORR
TRE, MORLETHS., 6

BMTEL THN-ETETHEARD TRAMIZEHAT S, #0 EXDDOBAOFEMHEEEE
DTRICERBEDFEELED > TS AT AN,

8L, MEMRFEOEE T, MEONATSH 3., EUWEOFIIE. FEZ5IH
&, BEREOREFRENL, KETAETIRAOXPHALGHI TS, ME L EMXL
HEOW S % 4 BEFETHS. BRSO ELVLHEEERIVDERH S, ZORKTIX
BfRsnuEkREREnRIIEIrA TS,

93T, INEDBIZHEEFHNS, HIRKERNT, 36 —084&FE2 X85, XkiZ. &
LEDOKE[ERRIZ 234 — 1.18 2 FIRKE ERTR® 3,

1051/ NEDBIEEHDEETH D, 35— 275 4% T 5, 3EOIMEBDOFIXHTIE
LR TR AT o72h, 22T, M2 »5T->TED. —MENRON
£,

11ERATIE, ERICHE L 6 OSWE. 77 ZA20ATFHABDIZ, ZThEFhEBLD
JETHMATEZOBREIVAHEARNSE, BB —HDOETIE2M/AD., 5i13/35 TGN
T3, BCIE, "A7X 9 bAR—IALD 3 EHY 12— b aERTE-0. PE#IZk-T
Va— FORIBERED K SIGED »EEKEBET S, 1.5m, 3 m, 4.5m, 6 m» 5 ZhZh, K
ICBEWAL$F2ZIZ10lE3 DY 2 — P LT, RIWEEZ/NMNITIEAT S,



BHYiZ

EKAEIZHENRS &, ZOHEFE
3. 2 < DECARIBES & ORI
ICHHAL TS, 2L T, 2156
FRAWRELE AN, BE
BMXE530ICHB%EVTH
5 ERIIIFKOEH 2 RIEA T,
R LEGBAELEZATVS, M
ETIE, BFAL BT ICHE
A TOSHANREZ N, MK
nERL. BRUIOBRKTIE5 41T
QRS EL SN AR Fro 1 : 1
L. Zh2ERDOEEANDOH
FrlLEkA2Fi-85, ZDLS5 &
FEPBELES,

"

Objective: Solve & complex problem by solving a simpler
1} problem firet.

m Mr. and Mrs. Washington
and their three children

visit The Museum of

inventions. How much do
the Washingtons spend on
* What do you know? There are 3 children and 2 adults, |
® What do you need  The total cost of admission i
to find? and parking ]

* How much do they pay for parking?
* How much do they pay for everything altogether?

m You need to find out three things to solve the problem.
¢ How much do they pay for admission?

You can sometimes see how to solve a problem by first
solving a simpier problem. Try using smailer or easier
numbers instead of the numbers in the original problem.

Costfor adults  Cost for children Cost for parking
2 % $8.00 3 X $6.00 $5.00
TotalCost 31600 +  $18.00 + $5.00 = $39.00
Now solve the original problem in the same way.
2x $7.95 3 x $5.95 $4.50
= $38.25

TotaiCost 31590  + $17.85 + $4.50

m is your answer reasonable?

X120 BEE

Find 3.5 ~ 2.75 1o solve the problem.

v v

Line up the Subtract the Subtract the Subteact the
decimal poi hundredth h ones. Place the
Place a zero in Regroup if Regroup if decimal point
the hundredth Y. necessary. in the
place. difference.
410 20 2,40
3.50 355 271 b2 74
=275 ~278 ~2.75 -2.75
5 75 0.75
1 tenth H
(3o Abradil {ivs i S

Since addition and subtraction are inverse operations
you can add to check. 2.75 + 0.75 = 3.5
. The go-cart has 0.75 more horsepower than the lawnmower.

.

K21 #0 FPA0DH B/ KOG58
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